6.4 _SREDIBHBIR
6.4.1.

1) . :
T=u+v u=x-—y ' =
@ 05
Y= v=1Y =0
Filhu=C HEF 2 —y=Cio=CH e T
TEF] y = C. R L, A
(2) B (1), u+v=1HEF =1
(3) H (1), 22+ = 1 HEF| (utv)?+0? =1, e v
BEHE u? 4+ 2uv + 202 = 1. (Er—E# .
;H%) 15 B
(4) HETHEAS: 0<u<1,0<0< 1% o o ’
EF0<z-y<1,0<y<1(WHETF -
).
6.4.4.
PN 2 VN

FHEE J(u,0) TOT -

Jx Oy 1 NG
_lou ou|_| 2w 2yu | _ 1 1 1
T =14 oy [T VA YV |Tmitnw

9 2 1 9 2 2
/ /(\/a-ﬁ-\/%)-%dvdu:/ @IHU’1+\/%‘1CZ“
1 J1 1

9 1n?2 In2 2 39
= | SVa+@- VY du=—--Zul|
1

2
§In2+16—8\/§



6.4.6.

JFRIES A 1 <u <2, 2u—2<v<u REEFAEERITT
r=v—u+1 u=zr—y—1
=
y=v—2u v=2r—-y—2
ek S5 SR AR TR AT

u=1, v=2u—2 y=x—2, y=-2
=
vV=u z=1

HEtE J(z,y) WF -

Jor Oy
o A 1 2
J , — ou Ou — =1
(®39) 9z Oy ‘ 1 -1
ov  Ov
1 xr—2 5 1 5 ez2 1 e—1
. ldydr = Tdu=—| =
/0 /4 ¢ v /0 e Y 2 lo 2
EERE ) 6.4.7.
AERE, BRI T
2u+z
T=u—2v v=
=4
y=3u+v v = y— 3z

16 358 SR R AR TE AT

2u+3v=0, 2u+v=0 y=x, y=0
=
u—2v=1 T

BerE J(u,v) WF -

oxr Oy 1 3
louw ou|_|7 T|_1
J(x,y)— @ @ = g 1 7
ov Ov 7
JFFE 3 IS BB RS
1 rx 1 11t s 2y% x
| [ wesvm qavas = 2 [ ots B as
0o Jo 7 7Jo 3
1/153d 152 s
_ 22, _-.2.2
7)o 35T 73 5%




EEFE) 6.4.9.

(REE L AT

_’U—U
{uzy_x & s

v=22r+y

I6 358 SR i AR AT
y—xrx=1, y—x=2 u=1, u=2
54
20 +y=0, 2x4+y=2 v=0, v=

BRrE J(u,v) AT -

oxr Oy 1 2

_lou ou|_| 3 3|__1

T =l es oy |T] T 1|77
v Ov 3 3

2 r2 1 1 2
EREfRE | 6.4.10.

RENSEIENES SL VIR

bgu — bl’U
u=a1x+ by T = A
=
v = asT + bay U= —G2UA+ Qv

Ht A = arby — aghy. TMIEEGE FATHIARE ELT -

as® + by = c21, a2x + bay = ca2

a1 + b1y = c11, a1x + by = ci2 u=cr;, U=Ci2
<~
V=C21, UV =C22

BRrE J(u,v) WF -

Jr 8y b2 —am
louw ou|_| A A |_abr—ahy 1
M=o 0y | T < @ |7 & B
v Ov A A

/012 /022 | 1 | dv d 1 ( ) ( )
1|« dvdu=—="(c12 —c11)-(co1 — c22
C11 Cc21 A ‘A|



6.4.11.

(1) FAtAEE,
P+ <R* & 0<60<2r,0<r<R

QR B 2y

2T rR 2T R
/ / 2(cos*0 — sin®0) - r dr df = / cos 260 df - / 3 dr
0 0 0 0

27 : 2
/ cos 260 df = sin 26 27
0

2 o
Fir A
// 2?2 —y? dA =0= (7R?)- £(0,0)
22 4+y2<R?
(2) FHAEUB A SR AL R A A

x=14+rcosf, y=rsinf
RITE 7> 4 B e A0~
-1+ <R> = 0<60<2r,0<r<R

HEtE J(r,0) WF -

9z dy .

J(r,60) = or or | _ cos 6 sin 6 _,
Oz Jy —rsinf rcosf
00 00

JFURE 5358 Ay

2t rR
/ 1+rc089 (rsin@)z) -rdr df
o Jo

DJ

27
= / / 1+2rcos€+r 00529) r dr db
0 0

2 R
= / / rdr df (cos @, cos20 ¥t 0 &5 % 0)
0

27 °
/ de-/ rdr=mR*=mR%- f(1,0)
0
(3) FRAE{LURR A A fy Ala

r=a-+rcost, y=pF+rsinf



RIfE i E S e
(z—a)’+@Wy—B?<R> & 0<0<2r, 0<r<R

FHEE J(r,0) WF -

0 0y |

J(r.0) = or or | _ cosf sin 6 _,
O @ —rsinf rcosf
00 00

JRRE > s

2t R
/ / (e +1cos)® — (B +rsind)?) - rdr df
o Jo

2w R
/ / (aQ —62+2arc089—25rsin9+r200526’) -7 dr df
o Jo

21 R
(a? — 62)/ / r dr df (cosf, sind, cos 260 ¥} 0 534 0)
o Jo

I R
(a® — 52)/02 de /0 rdr = mR*(a® — 8% = nR? - f(a, B)



